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1. feladat:
1.részfeladat
~ max z=5x; +2x» X1 =
f.h. 3x14+x <12 X2 =
z =
X1 +x <5
xXp,x2 = 0; xp,xp egész //, N
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N X1 = X1 |=
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2. feladat:

max z = 2x1 + 3x»
fh. x14+2x <10
3x1 +4x <25
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xp,x2 > 05 xp,x2 egész / N
Xo 2.részfeladat 3.részfelada
N X1 = X1 |=
I X2 = X2 |=
p4
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3 feladat:

f “YEE T T T T 1.ré dat

min z = 50x; + 100x> X1 =
th.  Tx+ 2x6>28 e
X, 2x14+ 12x, > 24
x1,x2 >0 ~ N
Z \\

2.részfelada 3.részfela

X1 |= X1 |=

X2 |= X2 |=
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i feladat kcua\k l4dshoz:

-7 4

max z = 4x1 + 3x»
f.h. 4x; +9x <26
8x1+5x <17
xX1,x2 > 05 xp,x egész

min z = 4x] + 5x2
fh. x;+4x >S5
3x14+2x =7
x1,x2 > 05 xp,x egész

max z = 4x1 + Sxp
fh. 3x+4+2x <10
X1 +4x <11
3x1+3x <13

x1,x2 2 0; xp,x egész

max z = 7x1 + 3x2

fh. 2x+ x» <9
3x1+2x <13

X1,x > 05 xp,x) egész




